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RAR IS Bt E K

BEENWK | BALSYLREES
i BV A R & R AR5 5 BRI A = EYALIE + R RR S =
i | E 78,000 m?2 = H K SEIKALEEEE A 100 m*/H
B AE = 1,300,000 m3 HIKFEEMAE 4,500 m?®
HEMERKAD 145196 A mmsiE | B42| BOD 30 me/|
FTEIREAO 145,196 A KE SS 70 mg/|
(1) WHEEFXR
. X % 4R 5A 6H 7R 8H 9A |10A|11A|12A| 1A 2R BA | & §
. aJ R 2 28 180 258 168] 141 63 38 29 0 0 0 907
* TER-HHKRZSH 39 57 91 70 8 22 45 67 37 25 39 20 520
18 BRI T%E 83| 156 98| 173 128| 144 130 107 142 136 84 153| 1,534
V3 IR EY) 3 5 2 3 5 3 2 5 3 3 0 2 36
- N E 127 246 371 504 309| 310] 240 2171 211 164| 123 175 2,997
= L E - - - - - - - - - - - - -
A = (1) 127 246 371 504 309| 310] 240 2171 211 164| 123 175 2,997
- F (m3) 93] 195 382| 528] 327 313] 213] 181 1701 118 89| 125| 2,734
EtE (1) 22 23 22 25 22 21 23 20 20 20 18 20 256
(m%) 14 14 14 16 14 13 14 13 13 13 11 13 162
WIEHITE |[(md) 107] 209 396 544 341 326 227 194 183 131 100 138| 2,896
HERREE (Fm)| 996.3 | 996.1 |995.7 | 995.1| 994.8( 994.5| 994.2( 994.1] 993.9( 993.7] 993.6| 993.5] 9935
=HR S| 107 212| 101 83| 49| 30| 28| 53] 46 38 34 34 71
NIBK= &= K 110] 246 107 93 82 41 37 65 56 48 38 37 246
(m®/R8) = /D 102 190 92 55 21 9 0 34 36 32 31 31 0
(2) MEROIKR
4| 5| 6R|7RA|8HA|9A|10A11A[128  1A| 2AH]| 3A
EROEERR B BB BB BB 5B 50 5@ 5@ 50 BB B®- &(@- 5
EREORERRE (B 5® 50 5% 50 50 50 50 50 5@ 5#®- 5®- =
BT kR @) ED B @ 5D 5@ 5@ 50 5@ 5 5w 5 5
CHORE. Rt (B FE B 5@ 5@ B BB 5@ 5@ BB 5@ 5@ 5
BHAKORBEE @ 4@ 4@ 4@ 40 40 50 10 a0 5@ &5 5E 5
FEH. BREEZOHE (B - 480 4@ 5B A0 5B 4@ 5B 4@ 5®- 5(® - 5% &
EKIZDRR B BB BB 5D 5B BB 5D 5B 5B 5D 5B BB 5
BHBELEREOK D @) &0 5@ 5D &0 50 5@ ) &0 5B 5@ &




